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24.  In triangle ABC, the measure of ∠𝐵 is 90º, 𝐵𝐶 = 15, and 𝐴𝐶 = 25.  Triangle DEF is similar 

to triangle ABC, where vertices D, E, and F correspond to vertices A, B, and C, respectively, and 

each side of triangle DEF is 
1

5
 the length of the corresponding side of triangle ABC.  What is the 

value of sin F ? 
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In the figure above, 𝐴𝐸 ∥ 𝐶𝐷 and segment AD intersects segment CE at B.  What is the length of 

segment CE ? 

 

 

 

26.  What is the sum of all values of m that satisfy 𝑚2 − 8𝑚+ 4 = 0 ? 

 

  



27. 

3𝑥 + 𝑏 = 5𝑥 − 7 

3𝑦 + 𝑐 = 5𝑦 − 7 

 

In the equations above, b and c are constants.  If b is c minus 
1

4
, which of the following is true? 

 

A)  x is y minus 
1

4
. 

B)  x is y plus 
1

2
. 

C)  x is y minus 
1

8
. 

D)  x is y minus 1. 

 

 

 

28. 
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        Note:  Figure not drawn to scale. 

 

 

In the figure above, lines k, l, and m intersect at a point.  If 𝑥 + 𝑦 = 𝑢 + 𝑤, which of the 

following must be true? 

 

I. 𝑦 = 𝑡 
II. 𝑧 = 𝑢 

III. 𝑦 = 𝑤 

 

A)   I and II only 

B)  I and III only 

C) II and III only 

D) None 
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